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Commerce
Accountancy - Solve dl the lllustrations of “Bill of exchange” (T.&erewal)
Business Studies Project Work—“ History of Coca Cola in INdia”
Economics : Chapter 1. Eve of Independence in India Learn NCERT
Questions and answer.
English :- Solve the given worksheet
Informatics Practices:- 1.SQL and JAVA notshould be completed
2.Write all program of JAVA in programming
copy.
Physical Education : Physical Activity Environments
Mathematics (Opt) :- Complex Number and Permutation Combination and
work of current chapter.

SCIECNE
Mathematics : Straight Line all eercise.
Chemistry : NCERT Rblock elements.
Physics : Complete the given Assignment
English : Solve the worksheet given.
Informatics Practices:- 1.SQL and JAVA note should be completed.
2.Write all program of JAVA in programming

copy.
Physical Education : Physical Activity Environments
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1. The force of gravitation is
(a) repulsion (b) electrostatic
(d) non-conservative

[AIIMS 02]

(c) conservative

2. Which of the following is an evidence to show
that there must be a force acting on earth and directed
toward the sun ?

(a) deviation of the falling bodies towards east
(b) revolution of the earth round the sun
(c) phenomenon of day and night

(d) apparent motion of sun round the earth. -
[ATIMS 80)

3. A man waves his arms, while walking. This is
(a) to keep constant velocity

(b) to ease the tension

(¢) to increase the velocity

(d) to balance the effect of earth’s gravity.

[AIIMS 2K] -

4. All the known planets move in

(a) straight path (b) circular path

(c) elliptical path (d) hyperbolic path [AIIMS 94]
5. Kepler's second law is based on |

(a) Newton’s first law

-(b) Newton’s second law

(c) Special theory of relativity

(d) conservation of angular momentum. [AIIMS 02]

6. The radius vector, drawn from the sun to a planet

sweeps out equal areas in equal times. This is the
statement of

(@) Kepler’s first law (b) Kepler’s second law
(c) Kepler’s third law (d) Newton's third law

[AIIMS 95)
7. The orbital speed of Jupiter is

(a) greater than the orbital speed of earth
(b) less than the orbital speed of earth

(b) the angular momentum of the planet about the
sun is constant

(c) the planet moves with a constant speed around
the sun

(d) the areal velocity is nab/T.

9. If mass of a body is M on the earth surface, then
the mass of the same body on the moon surface is

(a) M/6

() M

10. Two spheres of same size, one of mass 2 kg and
another of mass 4 kg are dropped simultaneously from
the top of Qutab Minar (height =72 km). When they

are 1 m above the ground, the two spheres have the
same

[AIIMS 2K]

(b) zero
(d) none of these. [AIIMS 97]

(a) momentum (b) kinetic energy

(c) potential energy (d) acceleration  [AIIMS 06]

11. Two planets of radii 7 and 7, are made from the
same material. The ratio of the acceleration of gravity
8,/ 8, at the surfaces of the planets is

@rn/n by n/n
© (/1) @) (1, / 7,)? [AIIMS 85)
12. If the radius of earth shrinks by one percent and

its mass remaining the same, then acceleration due to
gravity on the earth’s surface will

(a) decrease .(b) increase

(d) either (a) or (c). [AIIMS 94]
13. At what depth below the surface of the earth, is
the value of g same as that of a height of 5 km ?
(@) 10 km (b) 7.5 km
(¢) 5 km (d) 2.5 km [AIIMS 2K]
14. A body weighed 250 N on the surface.
Assuming the earth to be a sphere of uniform mass

density, how much would it weigh half way down to
the centre of earth ?

(a) 240 N

I\ 1A AT

(c) remain constant

(b) 210 N






Science

English :- Learn the answsiof lesson 1 to ®&f Hornbill.

Physics :- To sole and practice numerical of urill.

Mathematics : - Mathematicalnduction andCopy Completion work
Biology :- Herbarium

Informatics Practices:- Learn DBMS concepts and Hardware Concepts.
Physical Education = Learn all the question and answer chap&r






